Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER - V » EXAMINATION — SUMMER 2016

Subject Code: 352904 Date: 19/05/2016
Subject Name: Production Planning
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:
1. Attempt any five questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Each question carry equal marks (14 marks)

Q.1 (a) State the factors affecting the selection of site for textile industries.
(b) Explain the advantage of production planning.

Q.2 (a) Explain the working of unit type humidification plant.
(b) Explain the factor affecting layout.
OR
(b) Explain the methods of layout.

Q.3 (a) Calculate time required to fill one can in carding machine from following data.
Doffer diameter = 29 inch, Doffer rpm = 32, Weight of card sliver in can= 12

kg, Hank of card sliver =0.140, Tension draft = 1.04.
(b) Calculate time required to exhaust one can on speed frame machine from the
following data. Spindle speed =800 rpm, Weight of sliver in can = 12 kg, Hank

of drawframe sliver = 0.130, Draft between front roll and back roll = 10, TPI =

1.20, Efficiency = 85%.

OR
Q.3 (a) Calculate time required to exhaust one ring bobbin on winding machine from
the following data. Winding speed =1100 yards /minute, Weight of yarn on
ring bobbin = 60 gram, Count of yarn = 40, Efficiency = 70%.

(b) Calculate the weight of warp and weft in a given piece of fabric from the
following data. Tape Length = 108 yards, Piece Length =100 yards, Reed space
=50 Inch, Reed count = 76° Warp count = 405, Weft count = 405, Picks/inch =
80, Selvedge % inch on both side, No of ends /dent =4 for selvedge & 2 for

body.
Q4 Calculate no of looms and sizing machine required for the production of 35000
yards of shirting fabric per day. Assume suitable data.
OR
Q.4 Calculate no of carding machine and blowroom line required to produce 1800

kg of card sliver per shift. Assume suitable data.

Q.5 (a) Givenorms for speed, efficiency and waste % for the following machine.
(1) Winding (2) Warping (3) Sizing.
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Q.5

(b)

(a)
(b)

Draw layout plan for the following machine (any two)
(1) Draw frame (2) Ruti 24 auto loom (3) 24 airjet loom
OR

Give norms for speed, efficiency and waste % for the following machine.

(1) Comber (2) Open end spinning (3) Lap former
Explain the objective of production planning.
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